

(ع) الفج $\frac{\sqrt{1+\sqrt{r}} + \sqrt{\sqrt{r}-1}}{\sqrt{\sqrt{r}-1}} \Rightarrow \frac{(\sqrt{1+\sqrt{r}} + \sqrt{\sqrt{r}-1}) \times \sqrt{\sqrt{r}+1}}{\sqrt{\sqrt{r}-1} \times \sqrt{\sqrt{r}+1}} \Rightarrow \frac{\sqrt{1+\sqrt{r}} + \sqrt{\sqrt{r}-1}}{\sqrt{r-1} = 1}$ (1,5)

$(\sqrt{1+\sqrt{r}} + \sqrt{\sqrt{r}-1})(\sqrt{\sqrt{r}+1}) \rightarrow r + \sqrt{r} + \sqrt{r} + \sqrt{r} + r + \sqrt{r} - \sqrt{r} - \sqrt{r} = 7$
 $4 + r\sqrt{r} - r = 7$

$4 - r\sqrt{r} - r = 7$ ~~$7 = 4 + \sqrt{r}$~~

$\frac{r}{r} \times r \times r^{\frac{1}{2}} \times \sqrt{r} \rightarrow r^{\frac{1}{2}} + \frac{r}{r} + \frac{r}{r} = \frac{r^{\frac{3}{2}}}{r} \rightarrow r \times r = 1r$ (ب) ✓

$\frac{r^a \left(1 + r^2 + r^1 + r^1 + r^1 + r^1\right)}{r^{a-r} \left(1 + r + r + r + r + r\right)} \rightarrow \frac{r^a \left(1 + \left(\frac{r^1}{r}\right)\right)}{r^{a-r} \left(1 + \left(\frac{r^1}{r}\right)\right)} \Rightarrow \frac{r^a (r^{\frac{1}{2}})}{r^{a-r} (r^{\frac{1}{2}})} = r^1 \rightarrow$ (د) (ر)

$\frac{r^a \times r^1}{r^{a-r} \times r^1} = \frac{r^a \times r^{-1}}{r^{a-r}} \rightarrow \frac{r^{a-1}}{r^{a-r}} = 1$ $a-r=0 \rightarrow a=r$ ✓
 $r^{a-r} = r$ $a-r=0 \rightarrow a=r$ ✓
 - نبي و نبي

$(a+b)^1 (a-b)^1 - (a+b)(a-b)(a-b) \rightarrow (a^1 - b^1) \rightarrow a^1 + b^1 - a^1 b^1$ (ف) (ر)
 $\sqrt{r} + r + \sqrt{r} - r - r(\sqrt{r} - r) \rightarrow r\sqrt{r} - r\sqrt{r} - r(\sqrt{r} - r)$ (1)

$\frac{r(\sqrt{r}-1)}{r-\sqrt{r}} \rightarrow \frac{r(\sqrt{r}-1)}{r-\sqrt{r}} \rightarrow \frac{r(\sqrt{r}-1)(r+\sqrt{r})}{r-\sqrt{r}} = 1 = \sqrt{r}$

$\left(\left(a + \frac{1}{a}\right)^1 - r\right)^1 \rightarrow \left(a + \frac{1}{a}\right)^1 + r \rightarrow a + \frac{1}{a} + r = r^1$ (ر) (و)

$a = \sqrt{r - r\sqrt{r}} \rightarrow \sqrt{r - r\sqrt{r}} = \sqrt{r - \sqrt{r}} \rightarrow \frac{(r - \sqrt{r})^{\frac{1}{2}}}{(r - \sqrt{r})^{\frac{1}{2}}} = r^1 \rightarrow$
 $\frac{(r + \sqrt{r})^{\frac{1}{2}}}{(r + \sqrt{r})^{\frac{1}{2}}} = 1$ ✓
 $\frac{(r + \sqrt{r})^{\frac{1}{2}}}{(r + \sqrt{r})^{\frac{1}{2}}} = 1$ ✓

$r - r\sqrt{r} + r + r\sqrt{r} = 1r \rightarrow 1r + r = 1r \rightarrow r^1 = 1r = 1$ ✓ 1988

$$\frac{44100}{14700} = 3$$

$$\frac{11 + 11 + 11}{11} = 11$$



$$\sqrt{y + x\sqrt{2}} \rightarrow \sqrt{(\sqrt{2} + 1)^2} \rightarrow \sqrt{\cancel{\sqrt{2}} + 1} = \frac{\sqrt{2} - 1 - \sqrt{2} - 1}{2} = -1$$

⑦

$$\frac{x(\sqrt{x+1})}{x-1} = \sqrt{x+1}$$

✓

$$\frac{r + \sqrt{r^2 - 1}}{r - 1} = r + \sqrt{r^2 - 1}$$

٢- الف)

$$\left(\frac{\overbrace{\sqrt{1+\sqrt{3}} + \sqrt{\sqrt{3}-1}}^A}{\sqrt{\sqrt{3}-\sqrt{2}}} - 2 \right) = \frac{\sqrt{2}(\sqrt{\sqrt{3}+\sqrt{2}})}{\sqrt{\sqrt{3}-\sqrt{2}}} - 2 = \sqrt{2} \left(\sqrt{\frac{\sqrt{3}+\sqrt{2}}{\sqrt{3}-\sqrt{2}}} \right) - 2 =$$

$$\rightarrow A^2 = 2\sqrt{3} + 2\sqrt{2} \rightarrow A = \sqrt{2}(\sqrt{\sqrt{3}+\sqrt{2}})$$

$$\sqrt{2} \sqrt{(\sqrt{3}+\sqrt{2})^2} = \sqrt{4} + 2 - 2 = \boxed{\sqrt{4}}$$

$$((a-b)^2)^r ((a+b)^2)^r = (a^2-b^2)^r = (\sqrt{4-2} - \sqrt{4+2})^r =$$

4

$$(\sqrt{4-2} + \sqrt{4+2} - 2\sqrt{(\sqrt{4-2})(\sqrt{4+2})})^r = (2\sqrt{4} - 2\sqrt{2})^r = 14(2-\sqrt{2})$$